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LAMBRICK PARK SECONDALY SCHOOL

Foundations of Mathematics
and Pre-Calculus 10

PRACTICE FINAL EXAM

A0 19

Instructions

1. When using your calculator (scientific or approved graphing caiculator):
- use the programmed value of « rather than the approximation of 3.14.
+ round only in the final step of the solution.

 ensure that your calculator is set to DEGREE mode

2. Diagrams are not necessarily drawn to scale.




1. What is the slope of the following line?
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2. What is the equation of the line passing through (—1,10) and (2, —2) in sl(:ge — intercept form?
r } q ] Y‘). ﬂ 2
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e s 3 =10 = H(x=C)
g —to = -H(X +1)
\5 -0 = "’,X;l*"j)
3. If f(x) = 5x + 6, determine f(—3). { g\g —l—_f)(-}_é):)[
F(-2)=5(-3)6b ._ R
= -15+0b
\i( )= - OH
4. What is the Greatest Common Factor of 72, 56, and 407
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5. Which of the following numbers are Irrational? —V16, 7, V64, V2 8, —3.3333.. , V4

N AN Y AN
R“; L’ ( Trrational ) = 1 Trrational r:(pea*lmf) Trotion|
X i : ation ‘ Mo a ecima flaTiong
1on :/— Rcﬂ"o'\ﬂl Rational
6. Simplify: 3V 50
P }i Bm G 9:’5' 1S [o;ajes'f' ,oerFec:l" SMC Fa:;{'or o‘F 50 ,/
=3{25-2
=3.5J2

7. Simplify: (—2775%
(-a)3 1%
_(3 &
'( -2‘)) X

- -

8. Factor: 16p%—81g? < ,-Fﬁercnce o‘F Siuares

E@*%I‘*ﬂ - ?a ) Ab;q -4)

w\P

1135
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9. Determine the cube root, using the grouping method: 3\! 91125 @ @{53\“
(2 marks) 36‘1!5
Ma5=-33.3.3.33.5.5.5 @/;aq
A25=(3-3.5 (3:35X3.3.5 ) @ﬁqa
A5=( Lfs)(%')( 4s) 3§ &
A\
VLTRSS 9 9
10. Write as a mixed radial in its simplest form: %é\@

(2 marks)

Pched' s;uare
c+vf‘$ O'F' 22
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11. What is the slope and the y-intercept of the following? 3x—4y+4=0

Lhcmge +o SZMXMQ

3x —HYy+H=0
-3X 3 R M 2
_uy = ;;x _ ‘_{ Slope: |
T~ AR y-intercept |
Y =2 Xt
12. Are the following relations also functions?
A) Ty B) L Ty
j
A
Y
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V¢ r+ical ’
line test!

Functio@ N Function Y /@

13. A line segment has endpoints A(—7, 3) and B(8, —2). Determine the slope of AB.

X.‘j) )(?.\j').
=Y ,—Y,
X,_—x|

= -2+3%3 -3 _=5 _ =l

s-(-1)" ¥*71 'S 3

-1

SLOPE of AB: YN = 3
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i-\v’r;_ l'.!-'-\"[‘ ) S
Ax+Bu= C
14. What is the equation of the line below, in STANDARD FORM?
- - = X -
y on = 2 g -y, = (o)

n el
(3,09

N (y%yc-?.)w

% s axt

= ' g+ b

}'{\ +6L -3 "3 S

v (0D N - - - = 5 |
b=2%x-3Yy |Dx 3W=6

y-0°2(x-3)

A

15. The slope of a line segment joining M(—6, 3) and N(4, k) is % . Determine the value of k.

= g, ¥1 Y,
MY, -y,
— YN O
X, - X, //__)5“(_3*)-_ 3.
— k-3 3 5k—15 = 32
TR r\5
H-(-b) 5
5K = H2
k-3 3 =S s q
‘:/‘ B _g_ il "_‘"! k=
1+ 0 } k=9 |
(ross —
-3 22 Tnutidl
—T mu
oo 5 B
16. Determine an equation of the line passing through the point '(‘5., —35 and parallel to the line segment
joining A(4,7) and B(1,5), in slope — intercept form. 7\ J,
%Y, ¥ YsMXtp
Use. -H s Same S\ope
= = powmTan
m_%?g tﬁl _ 6'7 —2 —‘%' +\n&-€q0(ﬂ'l0’f‘
X.-X, 1-9 -~ 3 3 of o W\

Y-y, =X
Y -(-3)=Z(x-9)

a2 gy =\
Y+3 " Z X% "2 ﬂ_:2x—q'
\5*3:%)‘:% A\\‘) ’3—__,5
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K Y, Yo Y2 o % Y, Y, Y3
17. Line AB passes through (9, 35 and (—4,7). Line CD passes through (4, —3) and (8,10). Are

these lines parallel, perpendicular, or neither?

Sr:xmt}’ ok \é;}-i& AB: Frp ond
Slop2- ve (\prom\ m:7,3 _.L"_- ) —Ll / ()nomse &‘ﬂ"\
('F'I‘P ﬁf‘-d CMY‘.{-}Q —q*;-—q- -_l3- _'_3.. __) ol
BN
Co:m= \O - (‘33 10+2 13 l/ 'cu]a]
Err et l
c-q -8 g rred

18. What is the equation of the line below, in slope-intercept form?
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19. Determine the range of the following graph.

I\ \/ . : r \th C\O;: T:if':zle
all possible LT Tl IO |
QD—vqlu?S il T e end PO
skl /3
RED 2 NE |

-Range: -' < \j < 3

20. Determine the x-intercept and y-intercept of the graph of 9x + 6y = 72

J N\

Ser \330

/

ser x=0
GO) + by = 7

by =72
=2

dx + b(0)= 14 6

Q\/\ = 72 \A: | P
) i (O, 12) ST ky
X = % x-inte%;;; (% ) O)

(, L § O) y-..i(ntéree‘f)t: (O, \7—)

A
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21. Write an equation for a line, in standard form, with the same slope as line A and the same y
intercept as line B?

S}ope of A \\j ~in%erc€p+ ot B
b= 3

Ll-

L?...;x 4o aer ridof
\ 6 ( | :&X“f 3 )XL{ “ *FYO\?;,"OY’S

-2 \?\)&f WA e

? ru?&f DFMY‘

iz s x-Hy o [X "'3 "7'/

22. The graph of y = 4x + k has an x-intercept of (—20,0). Determine the value of k

XY
W= Hx+k _ _
(0)=HE20) +k «—Pug in X ardl
D= -%¥0 +K &« Solve Ffor K =8 O
rgo 139
K=3%0 | -
23. Use the substitution OR elimination method to find the solution to the following linear system
. , - —6x+y=121 and x+9y =24
substriution | £ limination
fbx‘\'a =21 '
v+ 9 334‘5X§@ ‘bX*\j 2| |
-q -9y O irto (x +4ay-:= =24 )b
S 1Mequatien wx +SYy= 144
/\\ : for % \ ;("'\GY"SS: 2l ) ‘-'(3)-2@-
“6( qS*W)*% 2 =-qu+2Y | x+9
L 2) X Y | 55y =165 ¥ 27= 24
- = 2 / L2 = -
558 ,.',jr-l ned ‘_}_(_,.:_-'13;377*2" ’1 1y= 32— \iﬂ.s;ge—?*'
564= b6 5 WX=. =2 | N
BN sy [ (B3




d = 3
= . n
24. There is a collection of nickels and dimes. The number of dimes is three g(mes the number of
nickels. The total value of the coll@gggn is $35.00. How many of each coin are there. Solve using

system of equations. | | \ ( d: 5\"\ \ Solve e
‘X n be vwumber o+ nickels 3 ")' e \ SUbs 4o
e A e number o€ dines ';._9‘05.“ _L'O“,\',(,)‘d = 55, OO_ } U}o‘u;n
7 T
. ~ & hows mueh Fo:\x\: K ,

0. 05 + D10 (ZN)= 35,00 i k)
0,06 T 03N = 35.09  a==m ‘-‘\ Aipere are 00 MRS
= - 24500 =\VQO| . d\m{;‘s

0.35n% 2 »inz b A= 3(109) \ owd 300
- o . 2% _‘_'__’__;‘ -5, AR
(x?)3 | A= 300__ _Gypondn Rules
25. Simplify: ————
(x?)(x™5)
L “-3)  b+3
b
IR N\ =X < X
<2 it
r

_.2 = A\
26. Simplify: (2;2’) = (;%m :

-2 1-2

250
2 % ,,#\-5?
5% 9 %

:Sl\j

27. Write as an entire radical: 53/16

5=32s

S50 5 3hie
Jns Jie - —
. 3ffere = |Yaeee




28. A square has an area of 32 cm”’. What is the side length of the square as gradical in simplest
form? 2
G : A=s

i N

S = siole leﬂﬂH'\ A=32 cm?

32 =¢
L - ’
TS \/g_- 32 gf,oe(‘-rec'l' 5 uart

S \J_?\ 5/ @e (2 15 /
ST chot aF3;l 6.
side lengt

SiLfﬁ is L} Aem

29. What is the greatest common factor of 18x2y3, 30x3y, and 8y*?

8[336# number and Variable (S‘
that divide into each term.., = !2; |

30. Find the Least Common Multiple of 54 and 180

fi l/8<7 54![ = Ql'@j : now, fale #16 ‘\v:J&ele |
9 4 /{3 [0 {8() :@' 3 @ pawzl‘ o‘F eaaA umiue pl‘lnﬁm
ééé@ Qg@é}%} LM = 23335
SL{:Q\’SB 2 L_(_A/]:LJlQ’g

(80 =2%3"-5
31. Expand and simplify: (x + 5)(x — {1@9) Ly [/CM = 5‘40

=<z+s%;;+q#3,f,%)
= (352 F2=36)

o 12 4
- QDC +x —BéxHOx 4—51*'80 *Cam(m\el e Termg

wbw !T

32. Factor the following: 6x° — 19x = I no 6CF) a=b dew”"l"
- "_ R
S o, | h/ 2«2 - _qu—v)

= 21(31”)—7(3144)
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 perfect sguare
q/drngmme 5? 5?/Aaf€f

33. FULLY FACTOR the following: 16x% —
@" + X’ﬂj(’)/‘anm%r dFFereme
a‘F s‘zum"é’f

E@m@ﬁ.m’]

34. FULLY FACTOR the following: 293 O.F 2 .
2x* — 2x* — 24 /
=Q(Zd" 5= [;1) «f—now/ad :
A‘-&:‘D% l : "L’ X g ”’;
. M+ 3 =-|
W esS

(4 Y +3)
E(x + ;ZI:JC -2+ m
35, simplify: (—12525%
o C—!%) (z)
)
= (9)° 2

36. Expand and simplify: (X + 2)(96&— 37;4'8) '
N~

AP
:;" = x I 4’;21‘_'% H

2
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a= l! sfm;fe l.um/(

37. Factor the following: x% + 3x — 40
* (2 marks) o 8 x=5 = Yp
B +5=3

[ZGro)x=s)]

—

38. Factor the following:l 6%622-/31996 + 10 no GCF/ a :éf decom’ﬂ /
b Hox 0 ~(T 4 =40 (4r10)
;7__J '\|—-J _/_é/_-l—i: }C?
. 3x(;)x+5’)+2 (25
F@j +5I§1 + ;)
39. FULLY FACTOR the following: ~ 98x% — 18 GOE 15 L }

- 2(491’.}' 7) riow/ AifE oF Squares J

[ 300-3)]
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40. State whether the following are relations, functions or one-to-one functions f
 dowai oded 05
o repeate indowdif— _pepee

a. (4, 2),@,@,(1, N, (g@ relation(Y)N, function(¥N, 1-to-1 function YR in ra

o repeats i domain
b. (1,5),(2,9,%,17),(5,21) relation@N, function(Y)N, 1-to-1 function@N ho rth

ia clomain
o] (o nsez.
e (5-2),(1,1),(52),(1,-1) relation{N, function Y& 1-to-1 function YK}
(')repeqk L)mu"‘:}‘f
) o(om:q A -Fundlon

41. This brace is 2.75 m long and must be anchored 1.5m from the base of the wall. What angle does

the brace make with the ground? Nearest tenth

Wall panel

/
s 5
& & .
Cos 2.75 The o[nj’c', ‘”‘t brace

ii
! makﬁs ‘.ﬁ.f”’[’._ -ﬂw jfn“r\ﬁ{
e s

e
———
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42, In ATV, UV =8m, 2U = 90°, and T = 358, Determine the len?th of UT, to the nearest metre.

V Fid UT... side v .
8m "’ ’
38° X, use Tédm,

u v T )
38°= 8

%V a femanll\ s

\/:gggo |Om

43. Bob is standing on a surveyors mark 25 m from the base of a building. He measures a 61° angle of
elevation to the top of the building. How tall is the building to the nearest metre?

V 3 10. 239...
side UT( V) Haj

opa '1.,5\) use 'éan
Elﬂﬂ x5
ao fanél

. oF et )

A5m e Y = (l/jaw ng’
4g, /0/

@6 6u//0(f/|q is (‘{5\4 ‘IL,—i

44. What is the domain and range of the following:

Y 1| Domain: Ié 3 Range: \{/ 6}R
\
“all real Hs'
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Use the following graph to answer question 45

(%)
y
SR S
| | ol |
BN
NEEEREN
a v %] * : : > X
45. Determine the value of x if f(x) = —2 s —i——-;}-- | \
) i . | I s E .
what i< the x value Werc "Y \ o _ o —--—=-C§’ 3_
5

z =2 \%aA‘F& s — L

n W

46. The pomt (6, k) is on a line that has a y-intercept of — 2 and i 1s perpendicular to the line x
y= —x + 4. What is the value of k?

Lm | M)

%

‘i ‘ = =300 -2
S’ape:% 0y Slof)e O_F Pel‘P i :\{ i:%g{’z_g\
new line g( :%) s ~int )5’1 K =-]

P

So €gn, 1s /T _ i s =i
qnﬁp (Y~ Zx- 4 |

47. Carly and Joel buy some Hot Dogs and some Smoothies for thei@fiends at the Saanich Fair.
1 “arly Bought 3 Hot Dogs and 4 Smoothies for a total of $33.75

. Joel bought 5 Hot Dogs
and 2 Smoothies for $35.25. How much did it cost to buy one'Smoothie?

et H = coct for one Hot Doj let S= cost for one )mooH/ne
e R
Corly D(ZH +4s = 33,15 ) x- 5é+oae;f
foe\ @(& t QS= 35, 3%)*3 -
-|5H - 20S = -168.75

@@ I5H + 65 = 105.75
—145=-63
14

— M

10ne Smopthie
costs £4.50
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P l/g d"’fﬁducgf
=Xt X

3 % quulhpk powers W/Sane base.. AN) exponen'l's
= o X

Y

8
wi o %
- X - X =

49, Janelle and Manny are standing on opposite sides of a cell phone tower. Janelle is standing 105m
from the tower. Her angle of elevation to the tower is 23°. Manny’s angle of elevation to the top of
the tower is 36°. What is the distance from Manny to the @8y of the tower? 4nswer 1o one decimal place.

Cht o‘F’{’owc;\) L2 nd x

F_"'TL
I ,L\ use ‘tan

G&m 9~3> (Y \log Sa{\\e | ]0 | I
= @an 23°>%l0’3’ " ?@ ' x

i A y Use 'far\
\/ :L{L{§7m O 'éan 6°'LH-—-
4457 k_/‘"‘"-. — % o Ew
D istance
@ = 5¢” MGM\/ s ‘/‘1’-“ 367 /ﬂam\f to bose of
%@ x:é('gm fower i éf,gm

50. Sketch and solve the following triangle ABC: Angle C = 90°, sidea = 6.7m, sideb = 7.9m

: o neant_terth)
L \¢ [ Find LA: (Bl £BT T

TR use tal| | (B2 1800 40.37)

0.7 M 6D . B : ‘éaﬁﬂA W_J ﬂy
\

~J
v
3

D

("‘dﬁ PVH'\GS | | £A=tar” él)
(760:1+ é7:>\’ 1;

é:wmgqsl-i*l LA L{()g/
(07.3=c> |

= -J!m 3 |
_C; l("—lm;
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§ls Pete carns an annual salary of $67 300. This year he will receive a 4% bonus. Scott earns
$1040/week in wages and an average of $170 in tips per week. Who earned more gross income

this year, and by how much? Seoft
/ Bodus pay 4C=o.."" Ve
Pete® Hlodo+#170 =130y,

9, 0{-‘ 67300 = 00‘{)(67300'7%%(?'} Salary
4467300 ° B1210, x5 uedec F62930)

-ﬁere\ﬂ‘e—:
[P;e earned MOE, by ,?‘7079\

902 - 629
5. Janet’s net pay isSTI6F fér a 35 hour week. Her personal annual taxes are $14 763, CPP is $2564
and EI is $836. What is her gross bi-weekly pay?,What is her gross pay per hour? gﬂ’ﬁr" nﬂL

annual net {)a/ (64 X537 = 605),% +deductions

anual SMSS = 60528+ 1763 + 2564 +836 = 7{786?/mr
[ B, weekly

Bi-weekly gross= 7861+ 06 :
' 7302
HGUP[ NosE, = 30% 58270 = (_{3 2,_{ La Gross Bi-Weekly Pay: " 5046 58
3 gt houes _/ J—/Z_ Gross Pay Per Hour: /43 , QL/

avery Aweeks

AN
53, Marco has a gross inc’ox(wge of $47 000. He pays CPP and EI (both are tax deductible). His federal tax
rate is and his provincial tax rate is 5.06%. Calculate the total tax he pays and his yearly net

income. CpP = 47000 - 3500ij o498 = g;}. 5%, Qgg
/ er= (47000 x0.016%3 = 766,107 %;? 11,35

Federa| s 47000 - 11435 - m 35 = £ 30 445,45

v T
Led, exem mﬂj chr, EL Fedeml 'f‘axaé/c Incomeé

\»f 33, 4#5,65 10.15 =(£ 4846951

—

Pr‘owmc,lal 47000- (0207 2919.35 = vggg 873 65
prov 0xembﬁhm CPP, EIT frev- Taxable 1mcome

Z, 5973,65 X 0/0506:' > Total Tax:fg.{gOo gé
Tohal Tax = [866. 351H{(714.0(H#
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(h,T)

54 A Plumbing company charges a fixed amount, plus an hourly rate for a service call. A two hour
service call '35 $145, and a four hour service call is $255.

(3, l4s 4,3255)

a. Write the equation that shows how the total cost, T, depends on the number of hours, h, and
the fixed cost, C. Use R for hourly rate. _,Lh | nf( y — w1+ A

J T =Rh+C]

m‘{'& K'Fn(eo( cost... JN'?LI'a{ Va(ue
hk&’ s(ﬂfiﬁ\ (/r&e Y-M{'efcep{»)

b. Find the hourly rate

like ®iading slope..,
'] StoPe ce (Q//;{s and (4 9\55‘)

howrly

c. Find the fixed amount cost.

now,.. T =550 +C use (;Z)MS)
lys = 55(2) + C RO T

s = g + C
-‘fs }g f/é’: %35” £ xedl Cos"‘

d. Write the e@uahon thot now describes Hm relle-on,av\d use hL 7Lo find
the +otal cost oF 27 hours of work.
T=Rh+C
NOW. e, m erz,uoz{'llox/\
h=27.. T=55037)t35 _
T= ﬁ/S&Oj wﬁ zmjfloﬂ T 55;1*55
dath ;f 27 haus Ll £ 1530

&5, FH’\O{ %3 dO/Y\tJ\[V\ QV%J I\an3€5
(5) Domain ® iO l ?\ 3 L// / }
T Range? { Qo 45, W 255 ?-/)},,,ﬁ

/

Fixf’/ - %{ ng

\./Y\u




55. Determine the number of terms in this arithmetic sequence. (2 marks)

a1=-10,d =6, t,= 146
th= o + (n‘ I)d
[46.= =10 +(n-1)6

10 +io

156 = (n-1)6

& ¢

26 = "",l 'ﬂwe Seguenc 'fL\aS 27 7lerms_
) t .
27 =1 |

58, Determme the 45th term for this arithmetic sequence. (2 marks)

6, 13, 20, . a=6,d-= =27 n—qs t= 7
£n=a+(n'-l)o(
b= 6+(457)7
L= 6 ()7

%~/é+308 ——

BIL{ ( ‘6 L{S Wlf’fm s ~77L,

’-lb
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